





“"SRAE .&‘ t B. AXCT and BXD are straight lines intersecting -
& ‘»'zif.;-

Given that BT =40cm, CT =25¢m, Bx =12 X divide AC in the ration 2: 1 Calculate

a) the length AX (2marks)
)
fl/v(
Q
q/éo
b) The length DX correct to one significant figure. \0/\ (2marks)
i
S
00(0

8. Without using a mathematical table or a calculator smPh%(& leaving the answer

In the form a+b ve, where &, b and c are integers. ‘725 +sin 60 (3marks)

@
©
&2

s‘(&
&

9. Three quantities P,X and Y are such that R varies directly as the square of X and the square root of
Y if X is increased by 5% and Y is gécreased by 36 , Find the percentage change in P. (3marks)

&
5%
Qfo
10. Use binomial expansmn t@\\@valuate (3marks)
GB+2)+(3-v2) @0@
S

11. Aman walk s 10km on a bearing of 300° from a point A and then walks due south to a point B
which is 15km from A. calculate the bearing of B from A correct to three significant figures (3marks)

12. A transformation is represented by the matrix (-2 3) .This transformation maps s triangle ABC
5 -4)
Onto another triangle A'B!C! of the areas 399cm2. Find the area of triangle ABC (3marks)
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b) Mary is entitled to a personal relief of Ksh 1162, per month. Determine the net tax.  (6marks)

c) if Mary received a 5% increase in his total income calculate the corresponding percentage increase
on her income tax, correct to two significant figures. (3marks)

. 18.a) using ruler and compasses only , Construct a triangular plot of land ABC such that AB = 320m,
AC =280 and angle BAC =671/2 .Use the scale 1cm to represent 40m. A (4marks)

Q\
)

b) A farm P is equidistant from BA and BC and lies on the perpendlculhr from C to AB Locate the
Position of P. < (3marks)

¢) Find a point on this which is furthest to the farm house p and find its distance (3marks)

19. Two towns P and Q lie on the same latitude in the Southern hemisphere when its 10.30 am at P, the

time at Q is 1.30pm. ;
- a) Given that the longitude of P is 250E, find the longitude of Q (3marks)

b) a plane leaves P for Q and takes 31/2 hoursto arrive atQ traveling along a parallel of latitude

at 850km. find
i) the radius of the circle of latitude on which towns P and Q lies correct to four signification figures

Take m = 22/7 and radius of the earth R= 6370km. (4marks)

ii) the position of the towns Q. (3marks)
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iii) <BDF (2marks)

b) If BE bisects angle GED, find: ' (2marks)
i) <DBC
ii < GBE (2marks)

- 22. In the diagram below OPQR is a parallelogram OP= P and PQ = q .N is appoint on OP such that
ON: NP =2:3 ,

O
o
<OQ
>
S
: Orz>\’

a) Find &

i) PR in terms of P and q - S (1marks)
&
: R
ii) QN in terms >f P and q QQ;}Q (1mark)
b) The line PR and QN intersects at X , PX = hPR.&hd QX =KQN. (6marks)
i) By expressing OX in two ways find the va]gg?of handK . ety
&
ii) Find the ratio PR: RX ©& (2marks)
QQJ
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23. In a medical research station asiéw vaccine drug for AIDS is being tried. A sample of 36 people
was diagnosed to be HIV pﬁsitigéqfi'wenty patients were vaccinated with the vaccine and the rest were

not. S
) Calculate the probability that a patient picked at random is
i) Vaccinated with the vaccine. _ (1mark)

ii) Not vaccinated with the vaccinated with the vaccine, (1mark)

b) if the patient is vaccinated the probability of dying in in two years time is 1/6 while if not
vaccinated the probability is 2/3 calculate the probability that a patient picked at rand from the 36
people is ;

i) Vaccinated with the drug and will die. (Zmarks)
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